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(1) EH2H| 2(Unit Cost)2}  A|H| 2 (Tatal Cost)

10,00
100

10,000/100=100

50 10,000/50
=200

(2) B4=H|(Variable Cost)2t T H|

(Fixed Cost)
1) (Variable cost)
1 | 100 .
100 . 100
100
2) (Fixed cost)

20,000

10,000

20,000/10,000=2
20,000

20,000/20,000=1

(3) &2 (Relevant Range)

40000 85,000
40,000 85,000
(40000
)
85,000
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115 115
A
2100 . 100
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120,000 : [ 1]

1
bk o) & oY ZH &
“ (a given period of 87/1 11,000,000 9,750,000
time) (relevant range of 87/2 12,000,000 10,000,000
activity)”
< 1>
IIl. H|Z2| A
=12,000,000- 11,000,000
=1,000,000
=10,000,000- 9,750,000=250,000
_ 250000
, , , - = 1000000 ~ %
(
2)
1) 7H'E H|SHY
2.
dd LR ] A A
87 /119,750,000 0.25 9,750,000—2,437,500
C: ) =2,437,500 =7,312,500
(- ) 87/ 2/10,000,000x0.25 | 10,000,000—2,500,000
=2,500,000 =7,500,000
V. £4E71E ALY
2
2) BHISHY (1) =X (Graphical Method)
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(2) A

(9)) P)=
(FO+ %9 .
PQ = FC + \VC

VO= ()
M
PQ = FC+ V.Q
PQ-V.Q = FC
Q(P-V) =FC
FC
=PV

[ 2] 7,500,000 |,

2,000

8000 ()

(9)) ?
8000 Q = 7,500,000 + 2,000 Q
8,000Q— 2,000Q = 7,500,000
6,000Q = 7,500,000

Q = 1250
_ FC 7500000
Q= P-V = 8000- 2000 1250
2
)
(FO) (VO) .
1
(\VC/S
V/P)
X = FC+VC
_\VC \V/
VC =g X 5 X
( ) (



x=|:c+V?C- X x=|:c+l\3—/- X
VC \Y
X- 5 X=FC X- 5 X=FC
X(1- E)=|:c X(@- ¥)=Fc
S P
FC
*E v
S
FC FC
*= Ve Y
S F
¢S: )
[ 3] [ 2]
?
FC 7500000
X _1— v _1_ 2000 = 10,000,000
P 8,000
[ 2]
[ | 12,000,000
7,500,000 3,000,000
X ?
FC
v
S
FC 7500000
X ) ve = ) 3000000 10,000,000
S T 7 12,000,000
o)
FC
X : Ve S \VC
S
vC
S
(3) 7|2SAI0M ==E M2 |S A

v
S
FC FC
X —j( ) Q=p/(
P
©)
(09 (9))
FC+G FC+G
v X v
S P
[ 5[ 21 1000000
?
« — FC+G _ 7500,000-+1000,000
LV 2,000
P 8,000
8,500,000
=" 1133000
o = FC+G _ 7:500000+1000000
~P-V _ 8000- 2000
8,500,000
=00 M7
) ©
(PL)
PL = X(1- \g—c)— FC,
PL = X(1- %)- FC ( )
PL=QP-V)-FC( )
[ 6 2 12,000,000
1,000
PL = X(1- %)— FC
2,000
= 120000001 03~ 7500000
= 1,500,000
PL = Q(P- V)- FC
= 1,000(8,000— 2,000)— 7,500,000
= — 1500000 (1,500,000 )
(9]




Y g 3 20,000
VC SREH 60, 000
SV = FC- X(1- 5" £ 4w 180,0
Vv d & % 1,000,000
SV = FC- X(I- E) ( ) EE®AF 7,500,000 | ¥Eu|A 2, 500, 000
SV = FC- Q(P- V) ( ) |
[ I 2] 9,000,000
?
\ FC 7,500,000
SV = FC-X(- p) ~ P-V ~ 8000- 2000 1.250
2,000 FC 7500000
= 7,500,000— 9,000,000(1— s,ooo) X = v =" = 10000000
= 750,000 P
[ 8] [ 4] 9,500,000
? 2
SV = FC- X(1- \g) ?
3,000,000 .
= 7,500,000~ 9,500,000C1- 35 556,000 _FC_ 7500000+500,000
= 350,000 Q= P-V 8000~ 2,000
8,000,000
( y =000 1,333
[ ]  — FC  _ 7500000+500000
S Y L 2000
P 8,000
8,000 100% 8,000,000
2,000 25% = o 10664000
6,000 75%
8,000,000 ,
1/15
AE % R 2 ® 1,250(10,000,000) 1,333 (10,664,000)
A3 wF 3,000,000 | AFAEH 1,500,000 /15
ZE=FH 1,000,000 | ZFEAIEHE] 200,000
£ 34| 150,000 | A & ¥ 300, 000
ey 180,000 | L¥k#HlE] 500,000 1,000
A7V 2] 100, 000
AaFot 250, 000 2
AFYUE 400, 000
H 3 =5 80, 000
)44 100, 000 1,000
o] H] L EH] 400, 000 ,
B oo 500, 000
=A] 30, 000 _ FC _ 7,500,000
A A 50, 000 Q=p_v = 8,000— (2,000+1,000)




__ 7500000

< = FC 7500000 [ 9 A
- 1_y . 2000+1,000 8,000
P 8,000 2,000 7,500,000
7500000 ,
=0eE = 12,000,000 .
8,000 800 (relevent range) 800
(10%) 1,800
? .
__ FC _ 7500000 __ FC
Q= P-V  7200- 2,000 1442 Q= P-V
FC 7,500,000 7,500,000 7500000
x= LY 2000 072223 Q= 6000 ~
P 7,200 800 1,800
= 10,384,600 < 3
1,000,000 < 3>
8,000
? 2,000
__ FC+G __ 7500,000+500,000
Q= P-V 8000~ 2,000 Lal7 ,
1,100 :
?
SV = FC- Q(P- V)
= 7,500,000~ 1,100(8,000~ 2,000)
= 7,500,000— 6,600,000 = 900,000
&9
. 1800
x S| 5
v.ZHH|o EX|2 oIt 2olstry |
s1}
1400
1200
1000 SRt
750 J
800} L”lé' T
600 Vi !
! 1
400 : :llza] H]
200 !

200 400 600 800 1000 1250 1500 1700 1900 2000
A

(leverage effect) . 3.



WESE EA [ Fwg | o
800 6,400,000 | 9,100,000 |-2,700,000
900 7,200,000 | 9,300,000 |-2,100,000

1,000 8,000,000 | 9,500,000 |-1,500,000

1,100 8,800,000 | 9,700,000 -900,000

1,200 9,600,000 | 9,900,000 -300,000

1,250 10,000,000 | 10,000,000 0

1,300 10,400,000 | 10,100,000 300,000

1,400 11,200,000 | 10,300,000 900,000

1,500 12,000,000 | 10,500,000 | 1,500,000

1,600 12,800,000 | 10,700,000 | 2,100,000

1,700 13,600,000 | 10,900,000 | 2,700,000

< P
, 1,250
100
10,400,000 - 11,200,000 - 12,000,000 -
12,800,000 - 13,600,000 - ... 800,000

10,100,000 10,300,000
10500000 — 10,700000 — 10900000 — ...
200,000 .
100 600,000 (800,000~
200,000)
100
600,000

M
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1) (Plant Capacity)
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__FC _ FC+a

"RV ="nv Q
)
(
_ FC . FC
C=rv Q_P—(V— V)
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T P-V+ V Q
(
)



4)
(overtime labor) -
% ==
H| &
G=Q(P-V)}-FC Q V CED 8=
=@Q+ QFP-V- V)-FC G
G 0 v 4,
(2) &=27|E 242 el , )-
(productivity)
(efficiency) (
).
(cost) | (
( )
).
(
). Vil £ HEN 2%
(
(break-even point analysis)
).
( ! )
( )
). . ( )
(VO CVP  (cost-
( volume-profit relationship analysis)
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